EARAZROREIERT — 2 N—XBISY —F 201251828 (A) 11@EIE2H

m?ﬂ%‘i%‘ B1 #5%—# (xwlw | mEmml - |5 5 w8
[x&<£] 1 % :3,100,000 @ ~ 2 3#%&:930,000 @ ~ 37 :620,000 @ ~ 4 3&:372,000 @ ~ 5 7 :248,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
o . N RFES 143, ~4-6- . — EZE (118
1 6| NIEZ MY =T " 56.0 1(4_3)2 5463 | 39.8 s (f;) (/) NWVEL T 7—L
T4 >N=H b= BIXSAFv—34 NIVEY R T7—L
> N HZLiE 143. -1-1- . - — | BR#B7E (&
AR AR A= R [ L ’ ) |2l
L:h714=9 B:N—-E-F1k BAILAKS
# 5 | FlBEX 1:43.4 4-5-4-4 | 40.0| — 1 481 | NNBIEST (818)
3|5/ A¥—hZ=%Fv b 54.0 (74%) ) kM@T
R:g¥2Z2vAY BAYIATE-4Fy b e
X Sy _ -8 - BAE— (18
4 9 HHLF—H 6 )5%.]0 1(74?:;5 9-6-8-6 | 39.9 5 ?(1);5 it
L:77V—h B:T77E2TZAHT— Fxapse]
. L :43. -10-11- . - RFALE— (1)
5 o | Ty 409 o 1(743t)6 11-10-11-8 | 39.9 12 <4+310) ;A“l%ﬁ%
R:2a—#47Tav—-> BHIIFILALZX [IT)=2h e
S LSS . BHZ 144, ~11-5- . — RHE— (I1E
61813 7>EY ¥ ZXHA R 56.0 1?;)3 10117571 40.7 0 (4;;;) gﬁ#ﬂ?&
R4 89)—"J7 B:Ea-FT¢7A— RAKS
NN #3535 : -0-1- - AERE (1
d ; I a2=Fe: LI i ey ez 43 ‘ f’;) Al 1S
L:bh=KoIRT— B:bh—ku70-7 me =A
{ERESAE : ~9-10- = HEE (ih)
8l5|7 Bl RS o — 4 9 “e 1(.;;2.)5 7-9-10-10 | 40.8 13 :3_129) Kﬁﬁﬁﬁ“
L:bLTv—TA5 K B:¥~v=va—H ‘K FX
- NJETIN KEFESE 144, -12-13- . - RFLE— (1)
9 5|=FV LA 4 8 s 1(14/42>6 12-12-13-12| 40.7 11 (5&3; %E%
LiHVXRT1v7 B:JvXMIUZX Bt -
o = © SHER 144, FaGH . - T E (I
100N 4| FU—LZXFZAR T % 1(74?:? $ITE ? 2); HEEE
A:Medicean £ :Summer Daze Cheveley Park Stud Ltd
N MAEA : -14-14- - IEMERE (K3H)
17l AYENLG Y — 46 s 1.(414>.8 14-14-14-14] 39.1 7 (525) %ﬂiﬁﬁ
L:7Fe7 B:I Y54 tb AE ®E
. S, L5 HEAH : g7 = BB (KH)
12 10 Ny TT0—=1>y # 8 oG 1(.;/54.)0 8-8-7-9 | 41.4 6 ig)s e
Ry h—K—14 BN1F1RITLZR BIRRSH R EAS
SILAN) - t 7 | RiEEE 1:45.2 13-13-12-13| 41. — 14 | & BEES] (B
13814 YTV v 52— ’ 8.0 7 H i il
L2V T TF— BiAC YT T % B
% =5,5 i 6 | AR 1:45.2 6-7-9-11 |41.5| — 9 440 | WiBEYE (AFn)
141712 VX /T2 54.0 (742%) (-5) | LIk
Lib—>NZy K B:7)—T>Tzl NN 4065
® 1 —F—@EBIEf
1T=7r= 1,3,4,8,6,12,7,10,9,13,2,5,14,11
2a=5F= 1,3,4,6,8,9,12,10,7,2,13,5,14,11
Ja=5= (1,3),4,8,13,6,10,9,12,7,2,14,5,11
43—+ — 1,3,6,8,4,9,13,2,10,7,12,5,14,11
[ /N
B OB 6 770H 714K 1-6 4,980/ e E 1-4 12,2108 JEE 1-6-8 11,710M
B B 6 170 6-8 380M e B 4-1 21,870H 3EE 6-1-8 150,020M
1 690H 1-8 1,120H B & 1-6 17,380M
8 1209 B H 6-1 32,270M

ABICOVWTRDTEEERROODE. TR LIV,



